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  Period____Date________________Writing Equations of Circles

Use the information provided to write the standard form equation of each circle.

1)  

 

8

  

x

 

 + 

  

x

 

2
 − 2

  

y

 

 = 

 

64 − 

  

y

 

2 2)  

 

137 + 6

  

y

 

 = 

 

−

  

y

 

2
 − 

  

x

 

2
 − 24

  

x

 

3)  

   

x

 

2
 + 

  

y

 

2
 + 14

  

x

 

 − 12

  

y

 

 + 4 = 0 4)  

   

y

 

2
 + 2

  

x

 

 + 

  

x

 

2
 = 

 

24

  

y

 

 − 120

5)  

   

x

 

2
 + 2

  

x

 

 + 

  

y

 

2
 = 

 

55 + 10

  

y

 

6)  

 

8

  

x

 

 + 32

  

y

 

 + 

  

y

 

2
 = 

 

−263 − 

  

x

 

2

7)  Center: (−11, −8)
Radius: 4

8)  Center: (−6, −15)
Radius: 5

9)  

  

(

   

x

 

 − 16)2
 + 

 

(

   

y

 

 − 6)2
 = 1

Translated 4 left, 2 up

10)  

  

(

   

x

 

 + 5)2
 + 

 

(

   

y

 

 + 7)2
 = 36

Translated 5 left, 4 down

11)  

x

y

−4 −3 −2 −1 1 2 3 4

−1

1

2

3

4

5

6

7

12)  

x

y

−1 1 2 3 4 5 6

−5

−4

−3

−2

−1

1
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13)  Ends of a diameter: (−17, −9) and (−19, −9) 14)  Ends of a diameter: (−3, 11) and (3, −13)

15)  Center: (−15, 

 

3 7)
Area: 2

  

π

 

16)  Center: (−11, −14)
Area: 16

  

π

 

17)  Center: (−5, 12)
Circumference: 8

  

π

 

18)  Center: (15, 14)
Circumference: 

 

2

  

π

 

15

19)  Center: (2, −5)
Point on Circle: (−7, −1)

20)  Center: (14, 17)
Point on Circle: (15, 17)

21)  Center: (−15, 9)
Tangent to 

  

x

 

 = −17

22)  Center: (−2, 12)
Tangent to 

  

x

 

 = −5

23)  Center lies on the x-axis

Tangent to 

  

x

 

 = 7 and 

  

x

 

 = −13

24)  Center lies in the fourth quadrant

Tangent to 

  

x

 

 = 7, 

  

y

 

 = −4, and 

  

x

 

 = 17

25)  Three points on the circle: 

(−18, −5), (−7, −16), and (4, −5)
26)  Three points on the circle: 

(−7, 6), (9, 6), and (−4, 13)

27)  

   

x

 

2
 + 

  

y

 

2
 + 14

  

x

 

 + 12

  

y

 

 + 76 = 0

Translated 2 right, 4 down

28)  

   

x

 

2
 + 

  

y

 

2
 − 10

  

x

 

 + 20

  

y

 

 + 61 = 0

Translated 1 left, 2 down

29)  

   

x

 

2
 + 

  

y

 

2
 + 14

  

x

 

 − 8

  

y

 

 + 29 = 0

Translated 3 right, 4 down

30)  

 

4

  

y

 

 + 

  

y

 

2
 = 

 

−28

  

x

 

 − 

  

x

 

2
 − 191

Translated 4 right

-2-



©T E2L0y1s13 6KUu9txak MShozfRtmwNaHrRe3 HLCLJCs.V g xAAlMlM YrUiJg9hutLsj 7rkewseeermviexdd.n a 3Mka5dzee iwliztEh4 LIyn1frilnPiPtTe3 eAyl0gae8bwrCav C2X.8 Worksheet by Kuta Software LLC

Kuta Software - Infinite Algebra 2 Name___________________________________

  Period____Date________________Writing Equations of Circles

Use the information provided to write the standard form equation of each circle.

1)  

 

8

  

x

 

 + 

  

x

 

2
 − 2

  

y

 

 = 

 

64 − 

  

y

 

2

  

(

   

x

 

 + 4)2
 + 

 

(

   

y

 

 − 1)2
 = 81

2)  

 

137 + 6

  

y

 

 = 

 

−

  

y

 

2
 − 

  

x

 

2
 − 24

  

x

   

(

   

x

 

 + 12)2
 + 

 

(

   

y

 

 + 3)2
 = 16

3)  

   

x

 

2
 + 

  

y

 

2
 + 14

  

x

 

 − 12

  

y

 

 + 4 = 0

  

(

   

x

 

 + 7)2
 + 

 

(

   

y

 

 − 6)2
 = 81

4)  

   

y

 

2
 + 2

  

x

 

 + 

  

x

 

2
 = 

 

24

  

y

 

 − 120

  

(

   

x

 

 + 1)2
 + 

 

(

   

y

 

 − 12)2
 = 25

5)  

   

x

 

2
 + 2

  

x

 

 + 

  

y

 

2
 = 

 

55 + 10

  

y

   

(

   

x

 

 + 1)2
 + 

 

(

   

y

 

 − 5)2
 = 81

6)  

 

8

  

x

 

 + 32

  

y

 

 + 

  

y

 

2
 = 

 

−263 − 

  

x

 

2

  

(

   

x

 

 + 4)2
 + 

 

(

   

y

 

 + 16)2
 = 9

7)  Center: (−11, −8)
Radius: 4

  

(

   

x

 

 + 11)2
 + 

 

(

   

y

 

 + 8)2
 = 16

8)  Center: (−6, −15)
Radius: 5

  

(

   

x

 

 + 6)2
 + 

 

(

   

y

 

 + 15)2
 = 5

9)  

  

(

   

x

 

 − 16)2
 + 

 

(

   

y

 

 − 6)2
 = 1

Translated 4 left, 2 up

  

(

   

x

 

 − 12)2
 + 

 

(

   

y

 

 − 8)2
 = 1

10)  

  

(

   

x

 

 + 5)2
 + 

 

(

   

y

 

 + 7)2
 = 36

Translated 5 left, 4 down

  

(

   

x

 

 + 10)2
 + 

 

(

   

y

 

 + 11)2
 = 36

11)  

x

y

−4 −3 −2 −1 1 2 3 4

−1

1

2

3

4

5

6

7

    

x

 

2
 + 

 

(

   

y

 

 − 3)2
 = 9

12)  

x

y

−1 1 2 3 4 5 6

−5

−4

−3

−2

−1

1

  

(

   

x

 

 − 4)2
 + 

 

(

   

y

 

 + 3)2
 = 1

-1-



©z 92W041P1O AK5ultkav hSGoFfbtMwCajrCe9 zLXLhCF.4 U aAQlklE mr5ipgFhutBsA JrXe1sIeWrtvIerd5.s L XMzaEdveY UwMiftZhE oImn5fMiQnjiftfed RA8lIgmeHbnrNav u2U.O Worksheet by Kuta Software LLC

13)  Ends of a diameter: (−17, −9) and (−19, −9)

  

(

   

x

 

 + 18)2
 + 

 

(

   

y

 

 + 9)2
 = 1

14)  Ends of a diameter: (−3, 11) and (3, −13)

    

x

 

2
 + 

 

(

   

y

 

 + 1)2
 = 153

15)  Center: (−15, 

 

3 7)
Area: 2

  

π

   

(

   

x

 

 + 15)2
 + 

 

(

   

y

 

 − 

 

3 7)2

 = 2

16)  Center: (−11, −14)
Area: 16

  

π

   

(

   

x

 

 + 11)2
 + 

 

(

   

y

 

 + 14)2
 = 16

17)  Center: (−5, 12)
Circumference: 8

  

π

   

(

   

x

 

 + 5)2
 + 

 

(

   

y

 

 − 12)2
 = 16

18)  Center: (15, 14)
Circumference: 

 

2

  

π

 

15

  

(

   

x

 

 − 15)2
 + 

 

(

   

y

 

 − 14)2
 = 15

19)  Center: (2, −5)
Point on Circle: (−7, −1)

  

(

   

x

 

 − 2)2
 + 

 

(

   

y

 

 + 5)2
 = 97

20)  Center: (14, 17)
Point on Circle: (15, 17)

  

(

   

x

 

 − 14)2
 + 

 

(

   

y

 

 − 17)2
 = 1

21)  Center: (−15, 9)
Tangent to 

  

x

 

 = −17

  

(

   

x

 

 + 15)2
 + 

 

(

   

y

 

 − 9)2
 = 4

22)  Center: (−2, 12)
Tangent to 

  

x

 

 = −5

  

(

   

x

 

 + 2)2
 + 

 

(

   

y

 

 − 12)2
 = 9

23)  Center lies on the x-axis

Tangent to 

  

x

 

 = 7 and 

  

x

 

 = −13

  

(

   

x

 

 + 3)2
 + 

   

y

 

2
 = 100

24)  Center lies in the fourth quadrant

Tangent to 

  

x

 

 = 7, 

  

y

 

 = −4, and 

  

x

 

 = 17

  

(

   

x

 

 − 12)2
 + 

 

(

   

y

 

 + 9)2
 = 25

25)  Three points on the circle: 

(−18, −5), (−7, −16), and (4, −5)

  

(

   

x

 

 + 7)2
 + 

 

(

   

y

 

 + 5)2
 = 121

26)  Three points on the circle: 

(−7, 6), (9, 6), and (−4, 13)

  

(

   

x

 

 − 1)2
 + 

 

(

   

y

 

 − 

 

47

7 )
2

 = 

 

3161

49

27)  

   

x

 

2
 + 

  

y

 

2
 + 14

  

x

 

 + 12

  

y

 

 + 76 = 0

Translated 2 right, 4 down

  

(

   

x

 

 + 5)2
 + 

 

(

   

y

 

 + 10)2
 = 9

28)  

   

x

 

2
 + 

  

y

 

2
 − 10

  

x

 

 + 20

  

y

 

 + 61 = 0

Translated 1 left, 2 down

  

(

   

x

 

 − 4)2
 + 

 

(

   

y

 

 + 12)2
 = 64

29)  

   

x

 

2
 + 

  

y

 

2
 + 14

  

x

 

 − 8

  

y

 

 + 29 = 0

Translated 3 right, 4 down

  

(

   

x

 

 + 4)2
 + 

   

y

 

2
 = 36

30)  

 

4

  

y

 

 + 

  

y

 

2
 = 

 

−28

  

x

 

 − 

  

x

 

2
 − 191

Translated 4 right

  

(

   

x

 

 + 10)2
 + 

 

(

   

y

 

 + 2)2
 = 9
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